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General Instructions to the Examinees :

o Tdlemefl WdYYM IUN U YA W AMie Ifaria: ford |

Candidate must Write His / Her Roll No. on the Question Paper Compulsorily .

o W yuA AR E1

All Questions are Compulsory .

. TP ¥ P SR & T§ IR gRad1 § & o |

Write the Answer to each question in the given answer-book only

o fo71 ywml # aaR® wus &, S99 Wt ® SR Us 9 & fod1 For the Questions having more
than One Part , the answer to those Parts are to be Writen together in Continuity .

o UH U3 B F< T3 3G wURR # fifl ypR @ R / R / Ry B W A w o B
e &1 & W& A1 If there is any Error / Difference / Contradiction in Hindi and English Versions of
the Question Paper , the Question of Hindi Version should be Treated Valid .

e WUHF I AR Wusl J fawvem 2 : A,B,C g1 D.
This Question Paper Contains FOUR Sections : A,B,Cand D

Section Q. Nos. Marks Per Question Word / Page Limit of Answerr
A 1 -10 1 10 Words
B 11 - 18 2 20 Words
C 19 - 27 4 30 — 40 Words
D 28 — 30 6 250 — 300 Words

e YUY 9 28 ¥ 30 ¥ Iu<ifRep fadwey 71
Q. Nos. 28 to 30 have Internal Choices . .
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Q1.

Ans.

Q2.

Ans.

Qs.

Ans.

Q4.

Ans.

Q5.

Ans.

SECTION-A (HUS - A)

i @t fba ot § g9 Ifki g Sahs &1 3eudd HYd & 7

In which Branch of Economics do we study of Individual Unit ?

[1 Mark ]
& IAAWH H g AT SHIS BT I B g
In Micro Economics , we study of Individual Unit .
IIEH [T a6 941 8 ?
What is the Production Posibility Curve (PPC) ?
[1 Mark ]

TP IUGH—HHTGAT 96 98 BT & Sl &l a3l @l I §) e —awraRl @1 e 2 5 &
srefegeren gR1 fay gU wmeHl vd drenfiel & Ay gu 81 W ura fhar o |@dar 81 | 4, I8 =g
FAM T 9aTTT © |

Production Possibility Curve (PPC) graphically represents the various possibilities of production of two

commodities which can be produced with the given Resources and given State of Technology ,
assuming that the Resources are Fully Employed , Fully Utilized and Efficiently used .

JrefegeRen A @& dareqd g ?

What is meant by an Economy ?
[1 Mark ]

srfgaeen &1 312 il <91 &1 98 ATEIfID, No-fde g e e, i, I¥e-l a1 9479 3 8idl 8 |

Economy is the Country’s Social , Political and Economic Organ’s afterend Structure , wherein

Performing Economic Activities in a Legal Way .

R &1 31ef forfd |

Write the meaning of Cost ,
[1 Mark ]

HH U IAE 1 T @1 IR A ugad omTal W W1 §e W &g Rl B, 99 8 srefure #
EINCECERCICIES

Total Expenses , Incurred by a Firm in Producing a Commodity , Service and Output .

IAEA | [T AT § ?

What is meant by Production ?
[1 Mark ]

IyAIfEr &1 I & S B |
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Q6.

Ans.

Q7.

Ans.

Q8.

Ans.

Q9.

Ans.

Q 10.

Ans.

The Creation of Utility is called Production .

IR B gRYIRT HiforR |
Define Market .

[1 Mark ]
TOIR T A SAAUTT: IH FAKI &3 ¥ 2 el a%g @ pal vd famar R R Aed $a R e
e 999 R 9 avg & @¥ed vd 99 @ fol R B 2 |

Market refers to that Complete Area in which there is a Close Contact (Personal or By any Means of

Communication, such as Phone , Telex , Fax, e-mail, etc.) .

3 wea axg3ll @ A ferf
Write the Name of Two Intermediate Goods .
[1 Mark ]
T T B
Wheat and Cotton.

avg fafa gomelt 3 w0 afuE § ?

What is meant by Barter System ?
[1 Mark ]

awq fafera gomell | srfmme: g1 & 397 avq SR dameli & gcder faffmy srrer sieare—ya &1 9§ |

A System wherein, Goods are Exchanged for Goods .

I A W Y R’ GHSE © P
What do you understand by “National Income” ?

[1 Mark ]
fPdl o1 A TP 9¥ ) @Y § IR AW <A TGS TAT HARN & INIR Hed BT AR IS 31
FEA T | ST faQeN | U< g WA Mg N Wi Bk g

The Total Amount of Income Acquiring to a Country from the Economic Activities (Including

Foreign Incomes for Net Sources) in a year's time is known as National Income .

SArBAI~IP AR § PR qoic fhad qHe gvga PRl 8 ?

In a Democratic System , before whom does the Government presents the Budget.
[1 Mark ]

AHATDH A H TWHR FIE & T8 Joic URgd P! © |

In a Democratic System , the Government presents the Budget before the “Legislature” .
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SECTION-B (EUS - B)

Q11. e favawor @t =it <1 Argaist o1 \&au | awsnsd |
Explain briefly any TWO Assumptions of Economic Analysis .
[ 2 Marks ]
Ans. 37fd@ fagemor o 1 A=an @ -
o I 9 |AM TE |
o anfefs s_chsS P fagsmefied
Two Assumptions of Economic Analysis are :
o Other Things Remains the Same .
o Rationality of the Economic Unit.
Q12. dcE qHERE THEd |
Draw an Indifference Map .
[ 2 Marks ]
Ans.
Y
Units \ IC,
ofy IC,
IC,
IC,
G
O 7
Units of x
Q13. UaHEeRIES gfaafar &1 aRwfta SR |
Define the Monopolistic Competition . [ 2 Marks ]
Ans. Tl TR & AR : "THIUGRIGS URAIRAT & gRom fefele & AR faReaRT 2 3R
T Al B A A IREIRT & a1 USSR & <d AR $I Sl & | IRy $9D
fauRa WX faR 7 @i anfdfe sraxemy uforfiar ik eI R &1 fAsor g 2 1
Monopolistic Competition Market refers to that Market form, in which there are many producers of
a Commodity which produces Close Substitute Goods and there is Free Entrance and Exit of Firms
in the Market .
Resonance®
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Q14. WHd TR SURE R g ? IOIR DA IR Fhel BV SIE DI 0T &1 G ol |

What is Gross Domestic Product (GDP) ? Write the Formula to Calculate Gross Domestic Product at
Market Price . [ 2 Marks ]

Ans. TUE I HI B WA & II<FId b 9y ¥ Icalad A IifaH awgell d Jamsl & IR Jodi & AN B

Ahdl bXe] SIS Bel Sl B |
GDPw=C + | + G + (X=M)
el,  GDPwe = dINIR BIFd IR bl TR IUTS

C SEBIESINCRSSIMCERCILY

| = 9%d el weg fFaw

G = WGR gRI SIfd el @O T wgy 9 Warg
e frama (Fafa - smard)

(X-=M)

Gross Domestic Product at Market Price is the Sum of Market Value of all Final Goods and Services
produced inside the Domestic Territory of a Country by all the Producers, during an Accounting Year .
GDPw = C + 1+ G + (X=-M)
Here GDPwe = Gross Domestic Product at Market Price
C = Consumption Expenditure
I = Investment Expenditure

G

Government Expenditure

X=M) Net Exports

Q15. I P fc d, =T A A oA F AN el I BT Iarsd |

In your View , Mention any Two Difficulties in the Measurement of National Income .
[ 2 Marks ]
Ans. 3T P e ¥, IR T B TUET H I dTel T BfSAsAl B

o WA H AR A UK I B 0T Hfed B & 1.
o TRFN, JIRA T HeFG| a3 B HeATDH Bl PHioATgAl

Two Difficulties in the Measurement of National Income :

o ltis very Difficult to Calculate Income from Self Employment .
o Problem related to the Evaluation of Old Interim and Intermediate Goods .

Q16. {HY Wi W 39 o1 qHSA & ?

What do you understand by Aggregate Demand ?
[ 2 Marks ]
Ans. U% fAU U MY @ ISR & ®R W U A1 3 Afawe § S axgell iR Harsii &l AR &1 SRl 8

I GHY G bed B FHY HiT U srefgaren § 99T Wd & a_I&R Bl ® |

JHU HM = C+ 1+ G+ N.E.
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Q17.

Ans.

Q18.

Ans.

IEl C = SLGIRECE]

| = ICIRRINECE]
G = RECANIECE]
NE. = g i

Aggregate Demand is the Total Demand of all Final Goods and Services by all the Consumers of the
Economy at given Price Level .
Aggregate Demand (A.D.) = C+1+ G + N.E.
Here C = Private Consumption
I = Private Investment
G
N.E.

Government Expenditure
Net Exports

g &1 goic A R/ IANI™ & ? FHSsy |

What is meant by Deficit Budget ? Explain .
[ 2 Marks ]

T WRBR P! golc ULl goic YA d $F 8 79 98 b1 P doic bed © |

Budget Deficit refers to a Situation when Budget Expenditures of the Government are Greater than the

Budget Receipts .

Apefdee A9-3d @ fdl Q) A1l B S PR |
Mention any TWO Modes of Cashless Transactions . [ 2 Marks ]

Thefded oF-3d ® g HIEH © ¢
Two Modes of Cashless Transactions are :

o e dfdT ( Internet Bankiing )
o HAEd T ( Mobile App )
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SECTION-C (TS - C)

Q19. dcedl 9% & Bl <1 fARwasi & I@fEl @) gerd A 99y |

Explain any TWO Features of Indifference Curve with the help of Diagrams .

Ans.

(i)

(ii)

[ 4 Marks ]

JCTIAT 9% BT STl RUMHAD Bl & — I 91U ¥ &Y -1 B 3R P gU 8 | 3R IyAIa] Pl
A G & WR R 1 § A1 Al P axg B AT P G W B g8 N IR b SUE

DI 9T FHA T | qSRIAT ah 1 a1 &fasl IR ¥@1, 9 8 9aq Wl ¥ET 3R 7 & gD ared
arel B © |

y
Units
of y v, B

O X X,
Units of x

form § A fasg OXi - X o= &1 |31 @ OY1 - Y 9 &1 A1 & §AN $I gl & oafd B fag
OXo - X % @1 A1 G OY+- Y a%g & A1 & §AN B 9aral 2 3R A fag & gfad deat &1
B fig & o dsa &1 ga #X a1 g9 uigd b B fIg & Iuare 811 R SuHIE B fag gRi
feErR TR gea &1 T B | R®ifd Jgl U X a7g B 93 A g gR1 @R W dsa A
e fyerd 2 |

TSR 9% o fdg & I~IER B & — JCRA] 9% B I8 fAeIyan, g iiRenud & g
AT &R B BIROT BN B |

p A
> -
2> B Convex to origin
Q
R e \C
s D
IC
- X
O 42 3 4
Commodity X

SWRIE FEAIR X a%] @ 2 3Hs A9 U B4 & o0 Y a%] & AB AT & RN BT
e B | X I%g B 3 TP AF YT R & foIg Y a%g B BC HEH HT IR HAT TSl B |
SIRI—0TY SUHTE & U1 X 9% Bl i AT B SRl 8 dA—d SYHIaRT Y 9% Bl BIS Bl
ATAT BF BT T | TE TSl g3 W TR & &% & HIROT BT 8 |
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(i) Indifference Curves are Negative Sloping :
Indifference curves are always slopes downwards to the right or negative sloping, because if
consumer increases units of one commodity, then to maintain the same level of satisfaction
consumer has to decrease the units of another commodity. So as the units of X is increased
then units of Y has to be decreased and vice-versa. Due to this negative relationship
indifference curves are downward sloping . As in the present diagram as consumer
moves from Ato B the combination changes from OX + OY to OXi + OY1. While moving

from A to B, units of X is increased and units of Y is decreased .

Y
A
A
y
Units
ofy y, B
IC
~
> X
O X X,
Units of x

Slope of indifference curve will never be horizontal, vertical or upward sloping because in all
these three cases, the basic feature of indifference curve, i.e., same level of satisfaction is

derived at different points along the same indifference curve, is neglected .

(i) Indifference Curves are Convex towards the Origin :
Indifference curves are convex towards the origin because marginal rate of substitution
continously decreases (because as the stock of one commodity decreases its marginal
importance for the consumer will continously increases and as the stock of another commodity
increases its marginal importance for the consumer will continously decreases, therefore he is
ready to sacrifice lesser and lesser units of one commaodity for the every extra unit of another

commodity to maintain the same level of satisfaction).

Y

p A
> -
> B Convex to origin
EQ

R e O
S s g D

IC
X

o 1.2 3 4
Commodity X

As shown in the diagram when consumer increases one unit of X commodity he decreases Y

commodity equal to PQ, whereas for next unit of X commodity he decreases Y commodity

equal to QR. As we can see that PQ > QR, it represents that MRSy is decreasing and due to

that indifference curve will become convex towards the origin .
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Q 20. fA=fofaa A9®l A ¥ INH T FH=T WM BT b P :

Calculate : Average Revenue and Marginal Revenue from the following given data :

Total Sales (In Units)
. 1 2 3 4
et s (gr$ H)
Total Revenue (In¥)
o A (S ) 20 36 48 56
[ 4 Marks ]
Ans.
Average Revenue (AR) 20 18 16 14
a3
Marginal Revenue (MR)
20 16 12 8
HHTa 3™
Q21. yui oAl aR & T v & ? goi it aoR A w4 &1 a3 T 1 |
What is meant by Perfect Competitive Market ? Draw an Average Revenue (AR) Curve in Perfect
Competitive Market .
[ 4 Marks ]
Ans. TR &1 98 WwU O Bl d fagarsi & ned W= 81 & RO a%] [y @1 $Hd B by
Al w1 guIfad 181 BR Fhcal B | qoi U 9ok H R B A b1 MERe e gR1 & gl qen
AT & W gRT BT 81 Uh BH a%g B BIAd B gIfId T8 R AH qdifs SAHT fel Saared H
ANTE T GeH I 0 Bl & |
The form of market in which there are innumerable (large number) buyers and sellers of a commodity,
producing homogenous goods and there is free entrance and exit of firms in the market, is known as
Perfect Competition Market .
Y
A
Q| P | TR|AR|MR
1110|110 | 10 | 10 = AR = MR
2110|120 |10 | 10 Price
31030 |10 | 10
X
4 10| 40 | 10 | 10 0 Output >
Resonance®
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Q22. IOIR AYAT Pl JAURN Pl TP BIeAS ATfrpl DI AT A &Y 3§ G |
Explain Briefly the Concept of Market Equilibrium with the help of Imaginary Table .
[ 4 Marks ]
Ans. ¥ @ S A Rafd & wu § oRWifa fear o 8 el aroiR 3§ |l SusTael dor wHEl @l
ASTTE GAferd 81 Sl € | Sge @) Rfd 3 R @ 931 &1 fama &1 @ 990 w9 g9g® 2| 98 S9
AE & SRIER Bl & O aeiR 3§ 991 IUHIG] TRIGT & $9gd © 3fi dIeiR gfd, 9ok A7 & a_IeR
B g1 R Md W agen afk 5l oM W aeR il IR G4 9 e & @ 99 PMd W aeR
H gl @1 gffenfoaa Feargm| Jur aft 99 HMd R IR A6, aOiR gfd | fde § a1 98 <S4
PG W AR H ARHT I Avened weare | (Yo gfofar § g it qen g el @
Rerfa fewrg < 7))

The Price at which the Quantity Demanded is equal to the Quantity Supplied, is known as Equilibrium

Price. At this Price there is neither Excess Demand Nor Excess Supply. Therefore there is No
Tendency, for the Price to Change. Equilibrium Price under Perfect Competition Market is determined
by the Comparative Power of Market Demand and Market Supply . Because in Perfect Competition
Market there are large number of Buyers and Sellers who exist in Market . Therefore Share of a Single
Seller or a Single Buyer is very minute fraction of Total Supply and Total Demand of the Market.
Therefore an Individual Seller or Buyer is unable to affect the Market Supply , Market Demand and
Market Prices

Y Y
A
] (A) S, 8 (B)
Py Dy Sw i \/ .
100 | 10000 | 2000 s G— AR= MR
200 | 8000 | 4000
300 | 6000 | 6000 .
400 | 4000 | 8000 ' X
500 | 2000 | 10000 | O Quantty © Quanty

Q23. I I @l fh=El AR favyaiei &1 quiFe SR |
Describe any FOUR Features of National Income . [ 4 Marks ]

Ans. <N M @) fARd 9 UaBR 9 B
o Y AT BT F=H UH < B ffyaReyT I el 2|
o VST AT BT TEH U AT @fd, S A= U fadi—ad &) Bl 8, (TRd § Ud i
A 3Tl 9 & 31 AT TP) |
o IR M HT Y TH ¥ b AR @ snfe—fmaei @ g § fhg adme A v @
Armferes &3 o Al ok AR Frafmal @ snfdfe—franet &1 s f g9+ enfie 8im 2|
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o

R 3T BT T4 Scdad NAH—Tohansii | 8Iar 2 Il 394 e fhamil &l |affferd
T8 o S 7|

Features of National Income are :

o

o

o

o

National Income is related to National Income .
National Income is related to a Definite Time Period .
National Income is related to the Economic Activities of a Country .

National Income is related to the Productive Economic Activities .

Q24. ¥=1 P fFEl IR SR B G
Explain any FOUR Functions of Money .

[ 4 Marks ]

Ans. T3 B :

Il & §=& B -

o

faffm &1 A - aMgfie g W AgS &1 9l Siiad fafma wRoenariRa ' e qer it &
T P BRI B B | 37T aegall d 13l B HI—AHT qa1 & g1 fHan e 2|

I AUSG : qET G gRT S Al oGl vd daell & o Avd &1 s aRay 2| R
UHR H€TE BT Hex H qor &Y fhaal I F Jo aRel avgsll &1 offex § A1 Il 2| S S
THR I3l 3R IRl & Hod Bl &1 § A9 S 2 &1 b1 qed AIUd BRI A A1 oW B
&S (Unit of Account) ¥ dEaTel ® |

wIfid (A1) YA F A - G&T Bl IIHAM FIAE D A BT BRI A T8 B Ifod JaT WA
Tl & fofg W ST YR g S I 7 B Afds § {6 SIRAT | ol &1 g 9 g ©
o arfrpTer TaRe AT Wg R Feld 2| I8 9 A1 SUR 981 & w9 A & & 9§ |

T G BT AEH : &1 BT A W0 ST oI BT G BAT ¢ | DIs W AR 041 g 9 4
TId PR FHAT T AT 39 99 DI X S ©U A GRIET 3@ FHa 2| g4I H B9 wfad Bl 2
o dferg e @1 o 2 |

Functions of Money are:

Primary Functions :

o

Medium of Exchange : Money serves as a Medium of Exchange and Facilitates the Buying
and Selling of Goods , thereby Eliminating the Need for Double Coincidence of Needs and
Wants as under Barter .

Measure of Value : Money has also Removed the Difficulty of Barter System by Serving as a
Common Measure of Value . The Values of Various Commodities are Expressed in Terms of

Money . Money as a Measure of Value has made Transactions Simple and Easy .

Standard of Deferred Payments : Money has always been used as a Standard of Deferred

Payment . This Function of Money has Attained More Importance in Modern Times with the

Resonan
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Extension of Trade based on Credit . As a result of this function , it has become possible to
Express Future Payments in Terms of Money .

o Store of Value : Classical Economists did not Recognize the Store of Value Function of
Money . Keynes laid Stress on this Function of Money . People Store Money to Meet
Unforeseen Contingencies .

Q25. wHfe anfdfe A= & Y@RAT & e ¥ qHsEd |

Explain Macro Economic Equilibrium with the help of a Diagram .
[ 4 Marks ]

Ans. A fdfd A= AD — AS Hied gRI1 JUdIel e 3feferaRel &1 arifds R @I aarwm 2|
Hifesd vd ISPy N 69 geR SRIR Rig el 8, T8 AD - AS diSd §RT Ia1d1 71 8 |

SAS

i
|
|

0 Y,
qrfa® Hhe BV 9IS

>

AT AT (AD) rTdHTed Yfl ash (SAS) & SRTeR B W g E Bl | IfT dAa P. g1 ® a1 a9y
oftf, wEd 21 T Rafy # Icues Icued # FH FRal B AN HH BM W98 Sifed A B I9
TE U T | DA HH: HH B RN B AR G Po AR B BT UTK B B |

s9a fauRa afs @md OP: il & O §9y AN 99U gfd &1 smedd 1fdd 8kl g, (AB) R
JIferFa | Bel ST & | 3f¥d | SUISd Bl If¥d SAred b forg uRd wvdl 7|

SATGH gRT SIS A1 Y HF d¢+ WX AEH g § dfg gl g |

I IIGR DI BAG g8 o B AR T AR Po Pl W WU Bidl g | A"did § A d9
B B T4 §HY AF, AP G99 gRT 9% @ a_IeR BIAT § | Qrddrend gid 9% GDP oA B W
A GDP & aRTeR BId1 & | STl § ardifad GDP, A GDP & aRTaR &Il & |

Short Term Equilibrium tells the Actual Condition of the Economy . Actual GDP remains close to
Potential GDP . The Aggregate Demand (AD) — Aggregate Supply (AS) Model informs as to how are

the Monetary and Fiscal Policies become Effective .

Resonance”’
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Q 26.

Ans.

Q 27.

Ans.

When the Aggregate Demand (AD) is Equal to Short Term Supply Curve (SAS) , the Equilibrium is at
E , where Income OY, and Price Level P, are Determined . If the Price is P, , the Aggregate Supply is
Comparatively More than Aggregate Demand which is called Minimum Demand (CD) . In such a
situation , the Producer cuts down the Production . As the Demand is Less , the Produced Goods
cannot be Sold and these Goods are Stored as Stock . The Costs begins to go Down and Again attain
the Equilibrium Price P .

Opposed to this , if the Prices are OP, , then the Aggregate Demand is Comparatively More than
Aggregate Demand which is called Predominant Demand (AB) . More Demand Encourages More
Production . As the Producers Demand more means of Production , it leads to an Increment in
Investment . Finally , the Price of Goods begins to Increase and Equilibrium Py is again Attained in the
Prices . In the Short Term , Monetary Wage Level is Stable and Actual GDP may be More or Less than
Potential GDP . In the Long Term , Equilibrium is Attained when Aggregate Demand is Equal to Long
Term Aggregate Supply Curve . The Long Term Supply Curve GDP is Vertical and so is Equal to
Potential GDP in the Long Term , Actual GDP is Equal to Potential GDP .

afe A IuA gafa 0.8 & , @ Fde uns &1 W= s iR |

If the Marginal Propensity to Consume (MPC) is 0.8 , Calculate the Value of Investment Multiplier .

[ 4 Marks ]
k= 1 = k = L = k=5
1- MPC 1-0.8
ISP fc A , IoIc P B IR I IATSY |
In your view , State any FOUR Objectives of Budget . [ 4 Marks ]

gole Ush Qa1 Wed § e gR1 R wemes & a9 Rt o1 wafed fdar S g, S5 gam @l
SR & Ud wHad 1d R S 2 | 98 IR B IRIRE A T WRGR B IR I THE D
e IR PRl & AR FHE DI WP B b U 39S YWE b AFAR & BRI Y S g1 qore
S 7 Ugg S ©
o WER goic H 7 Had [ guifad B © afed fawm @1 fen 9@ aoie & MuiRa &rf 5
o Swed Fer H Al guic @ YfAd T we@yYl Bl § golc H Med gRI A T RO
el Rargdl vd Podb H Wed gR1 QY T Uiqrss e afg ¥ @edd 8 ¢ |
o AMRIAl WHR qolc & AIH F T B MR 3R ST § KU b ITD! 5 Al H Bl
IRA g DA W BT FafEd we g |
o T B AMNF g AHINIG ST Pl I 71 UG I g €9 Bl GAGaRoT =] |

The Objective of the Budget is to provide Direction to the Economy of the Country . The Country’s
Economy Setup is Directly Affected by the Government . The Main Objectives of a Budget are :
o Besides Affecting the Growth and Development of a Country , the Budget also provides a
Direction to it .

Resonance”’
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o The Budget is also very important in Increasing Production . The Tax Related Concessions
and Other Reliefs helps in Increment in the Production .

o Generally , the Government Proposes New Taxes and Collects Loans from the Populace so
as to Control its Purchasing Power in order to Control the Price Levels .

o To Provide Momentum to Economic and Social Growth and Redistribution of Income and
Wealth .

SECTION-D (HUS - D)

Q28. ¥R & T @ I | A1 & 7w o @ Y@ B gEa 9@ sifoi |
State TWO Elements of Demand . Explain the Law of Demand with the help of a Diagram .
OR

AT $ P g fFR FEd 7 ? AT B Pa g B B S At @ e @ demar |
S |
What is the Price Elasticity of Demand ? Explain any TWO Types of Price Elasticity of Demand with
the help of Diagrams .

[ 6 Marks ]

Ans.
A1 # f @ afwfoa 8 R
o fHdl axg o1 =BT AT MDA
o 9 A Pl Wied & forg ga1 a1 U
A1 & fraH
A F1 W ag & o R A & T B W BT © | A5 9% B qed W afg B9 W IEH! A=
FH HI B AN B IR I H B B W IHD! AF AfF BT B AN § | A4 AR oI B 39 fauda
Y Bl B AR & H R W fhar T 2| 59 M @1 e geR aRwiiia fear i g o ARia
@ T&l H, B H BN B W AT @) A § oafg den dwa | afg @9 W AR @) 7 § e ad
=
X
250 Sooaiﬁiﬁﬂm
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ARl W@ H BH PE Abd & [d AN P1 199 g4 I8 g1 8 b 39 91 FHM @ W g DI HEa d
P AN R IFDT 1S AT T BIFd H afg B W IFDT HH AT TG S B | WY W, Tg DA
MR AT 9 Aol |9y gara B |

qT B FEE UF OIS HUF B, I8 W A4 H B arel uRadai @1 QR @) &R Had deal g, 3
afRaci=i d1 /Y TE B |

frw @1 =1 o wrar B

(i) ST BT 3 ReR &= @Ry |

(i) SR B B U9 3ed H BIs gRdd+ F& 81 @y |

(iii) TFafd a¥gell & Hou § ®IE uRadd & B @Ry |

(iv) frdll o= R 9% &1 fJer 781 81 @13y 3ferar UT8d H1 DI Ul T8l ol a1fey |

(v) o b ged H MR A gRac A FraEr T B ARy |

(vi) axg gfrSToHS T B Ry |

3R]

AT B BT AT - AR B PG A Ig T A © B ag b I H U HiREd aRadd B W
IFBI [ H B aRade 8| 39 TeR, [l o) & qed § e [Red uRadd B R I9a! 6T
B A H S AuTide aRade B9, S¥P! A € AR B HIEd A © |

A T & IR, fHN SHd W AW P A PAd H ATS URIIT b IR H B DI T8 A
@ UG IRadT P PAT B UG IRadT F T 3 R Ui Bl 217 GF B B9 7 39
ThR A far S Al ©

A B A

A T A S/ ufoed/AErd aRkad g AQ
= . o o ~ ed=——
T AT /g /AATAS qRad AP

AT @ ArE @ AR

e =g & qou # uRada B oM W IF@ A1 § ff gRad+ 8 o @ weg o § uRadd &1 @t

TGS B AN R AN JHTE el ISl | BB GRS B AN AP AEER Bl B Said e awgell B

AT B9 AR B ¥ | 9 MR W AT @ g B e dfg Wi 7 dfer g

(1) quidqan dreeR AT (Perfectly Elastic Demand ed = o) : 519 f&dl a¥g @1 #(1 96 o0 |

fom1 & aRads & & 1A Jou § 98d &9 uRadd 81 W W9 & gcdl ged! W&l B
T Yofqan dFgeR @ dEd B 98 Ud dlede faR 2| aRafde shad #§ 30 318 avg
T8 & e A1 quiqan e 811 39S 9% BT MBR AfIS 1T e & FHER Bl
=
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YA
d=
PD , e 0 : D
O Q, a Q x
A

Relatively Elestic Demand

) SH1E 9 3% drdger A (Highly Elastic Demand ed >1) @ 9@ f&efl a&g & qoa 9 &M
el gRade &H BT g iR AW T A3 # 89 aren uRad i@ giar ¥ a1 39 gHE o
IfH drEeR A FEd © | U e @ avgeli @1 AT sH1E 9 31 ArEeR Bl B
9 71 I o) Ferar 9 W R 91 A6 §
YA

P

HT

Unit Elasticity of Demand

The TWO Elements of Demand are :

o Willingness to Buy a Commodity

o Resources to Buy that Commodity
The Law of Demand :
In law of demand we studies the impact on quantity demanded due to change in price of concerned
commodity, when rest of the determinants remains constant.
According to law of demand, "More quantity is demanded due to fall in price and less quantity is
demanded due to rise in price, when other things remains constant." Thus law of demand shows the
negative relationship between price of a commodity and its quantity demanded. According to law of
demand, demand of a commodity is a function of its price .

Dx =f (Px)

here, Dx = Demand of X commaodity, Px = Price of X commodity
Law of demand is only qualitative statement ( because it only indicates the direction in which the
demand will change, whether it rises or falls). Law of demand says that demand varies inversely with
price, not necessarily propotionately.
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Assumptions of Law of Demand :

The phrase, "other things remains constant" used in law of demand, represents assumptions of law of
demand. The law of demand would be applicable only if other things would remains the same, (ceteris
paribus) means the determinants of demand other than price of the concerned commodity remains
unchanged. The following are some important assumptions of law of demand :-

(i) Price of other related goods remains constant.

(i) Income of the consumer remains unchanged.

(iii) Psychological factors like habits, taste, preferences of the consumers remains constant.

(iv) There is no expectation about the future price changes, etc.

Explanation of the Law :

According to law of demand consumer demand less of the commodity when it becomes costlier and
consumer demand more of the commodity when it becomes cheaper. In other words it shows the
inverse relationship between price of concerned commodity and its quantity demanded. This inverse
relationship can be seen in demand schedule and demand curve. The negative slope of the demand
curve is due to the inverse relationship between price of the commodity and quantity demanded. When
the price of commodity was OP the consumer was demanding OQ units of the commodity. As the price
rises to OP+ the demand falls to OQ+ (which is contraction in demand) and as the price falls to OP: the

demand rises to OQz (which is expansion in demand).

Y
A
o E; Contraction
g ! ‘\E Extension
E P \ -
P2 D PX DX
10 100
> X 20 80
o Q, Q,
Qua?mty 30 60

OR

Price Elasticity of Demand measures the Degree of Responsiveness in Quantity Demanded due to
Change in Price, when other factors remains Constant . It can be measured by the following methods

A. Percentage Method : According to this method degree of elasticity of demand can be
calculated by the ratio between percentage change in quantity demanded and percentage
change in price of the commodity. For this, first we have to calculate the percentage change in
price and percentage change in quantity demanded, which we can calculate by using the

given formulae :
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(i) % Change in Price = % x 100

AQ

(i) % change in Quantity Demanded = x 100

Here, p =changeinprice, q = change in quantity demanded,
P = Initial price , Q = initial quantity demanded.

After that we can calculate the degree of elasticity by using the following formulae :

% Change in Quantity Demand
% Change in Price

B. Proportionate Method : According to this Method the Co-efficient of Price Elasticity of
Demand can be calculated by the Ratio between Proportionate Change in Quantity Demanded
and Proportionate Change in Price .

Pr oportionate Change in Quantity Demanded

e =
P Pr oportionate Change in Price

AQ

_ g _AQ_p _ AQ _p

= — =T~ X—— = — X —.
AP q AP AP q

p
Here, g = Change in Quantity Demanded , p = Change in Price ,
Q = Initial Quantity Demanded , P = Initial Price

Degrees of Price Elasticity of Cemand can be classified as :

(a) Perfectly Elastic Demand : When the quantity demanded changes too much (increases that
much that it may becomes infinite or decreases that much that it may becomes zero) with the
very minute change in its price, then it is termed as perfectly elastic demand . This condition
can be found in the perfect competition market where the commodity produced by different
firms is identical in every aspects, means the commodity is homogenous . But this condition
can not be found in practical world . In this case the demand curve would be horizontal or
parallel to X axis and that's why slope of the demand curve would be zero. In this case the

degree of elasticity of demand is infinite (ep = ) because of too much change in quantity

demanded .
Y
AN
—— D
g 1 1 1
1 1 1
T b
1 1 1
1 1 1 X
O Q,Q q,
Quantity
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(b) Highly Elastic Demand (or Elastic Demand or More Elastic Demand) : When the
percentage (or proportionate) change in quantity demanded is more than the percentage (or
proportionate) change in price, then it is termed as highly elastic demand. In other words the
percentage increase in quantity demanded is more than the percentage decrease in price or
the percentage decrease in quantity demanded is more than the percentage increase in price .
It is a realistic condition and can be found in the case of luxurious goods, like jwellery, mobile
phones, etc. In such cases demand curve would be more steeper than perfectly elastic
demand but less steeper than unitary elastic demand. The degree of elasticity of demand in

this case is greater than one (ep > 1).

Y
N
e> 1
%AQ.D> % P
P }% P
P,
8
& %AQ D
——
o S Q > X
Quantity

Q29. F[A AFM Td Fol aAFM A FRT B & AP o AR Y@= Bl AR A Diford |

Ans.

Explain the Equilibrium of a Firm by Total Revenue (TR) and Total Cost (TC) Approach with the help
of Diagram .
OR

dr<1 Irm va A ara fafd R BH @ [age @ e IErEE @ JEral 9 Hifor |

Explain the Equilibrium of a Firm by Marginal Revenue (MR) and Marginal Cost (MC) Approach with
the help of Diagram .
[ 6 Marks ]

TN BH BT LTI A1 BT IMAHTH HIAT Bl B | BHH Ieurad al G A FuiRd e & e ) s9s
M AFHTH B T T IeT W T8 SR P AA Bl P de@l B A1 FW g g RS9
ARITERAT B UK PR | o1 R AfIHTH oM UTd 81 B | A SR AN Bl TR A4 AAdT 8l
B qardl 2| AR HA B BT AW IFDB AN A G BT B A HH B AW U BN ¥ 39D fAwda
IS ™ @RI | $H BIAT B, 1 81 Bl B |

o el ANH Fof AN fafer |
HH B AT : 39 Y & AR ®H @1 Age 99 Rafd § 2 oiEf @ o iR g ArTd
H 3R waife® BT § 1A TR iR TC @bl # R AfFHTH BT © | BH I IAIGH AT W
AreaTaRer # Brfl 579 IW U B drell o 3if¥ddd BT B |
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Hol AFTH, oild, ot

9 o 3 x 318 R IAEH AAT 3R y 3 W KA AFM, Hel AN AR A B AT
ERIR IS

Fd A (TR) a6 Y F IR BIAT 8, SHH I8 910 W< B}l § P PR Iured &I
HAT R BRI Al gl AN Al YR BT § SR O OI ST ddl 8 A1 el ded
W ATH I TR HR B AR ISl B |

@l A 9% (TC) C famg, | uR™ 811 & Ud OC ReR od Bl 8 | Icures g 8
R fl BH P OC & IRIR AN T8 Hil TSl 2 |

F[A I R AT & IR A A o (TA) ifTd Brar 8| g o9 as (TP) &1 TR
IR TC TP & IR F Fou fHar 2|

RS K SWET & WR W gfe TC>TR 811 8 3 qel e, Hel 3 3 37fdd
B W B P BN BN B | GO oM a9 (TP) o & § Rerd 2

M fg W 99 G M (TR), F aNd (TC) & RTER BIdl & a1 BH H 7 14 Bl B
8 BN | o 39 3R & FARAR g F8d 81 Bt o9 ab (TP) X - 3feT R e
PRAT & AT BH B K IS WR R A P U 8 |

Sared K @ L fIgefl & weg 811 &, @1 @l oM gl ard ¥ 1% g 21 TR I
S 8T H TCd%h 9 HW 2 31qa TR>TC | 3 ISR Fo a1 1 &1 ¢ |

FA ATM AR B AN Ghl W Y e @Y 7 el Al B (E R F g w)) 99
W TR 3R TC @ & #ed g AfeHad s8Rl 8, s a9 1 Afddad 8Id 2| Ay
et A OQ FefRa gl & | srffrbas <9 @1 |/ SQ Bl & |

KQ @& 7 e R TR 3R TC & Hed <R dedl gl BIAT & AT Bl oM dadl &%
¥ U B B S fag W aif¥eaw 817 g1 QL Swies W A U B ® feg TR 3R
TC &7 3R ¥ BId1 Ol & df o ) ges o 8| TP a% =g @ iR fRar 2|

N fag =R g ol 3 iR gl arTd aR1eR 21 2 | 98 FaRAf g Fgermar 21 39
W T Y 3R A B Bl Refd Bl 8

Educating for better tomorrow genance Eduventures Lid. CIN-UB0302RI2007PLC024029 Page 20




* OL Scres AF1 & d1% Ife 4 3R o Icured &vcll & df fel oFTd deel el ®
3R G MMM gedl & (TC>TR) | B4 &I &I <l 81 ol o (TP) a5 x & =iral Bicll
=

oA & MuR W BH $ A OQ IR HAE WR B B, Fifd 39 Iqad A W Bl A (TR)
3R e AT (TC) BT <R ATAHTH BIcT © | 31T o9 A1 SQ 1S Bl 5 |

SICIELI

(@) B ATM AR Hod AN B G AHTH G A PRAT BfSH BT & | by W VW Gied R
arafas fawg ura gar 2|

(b) fF @ MIR W U0 SHE HFd B SN AT TG T8l el i HFd B TIerd: el
feamn s 2 |

3R]

AT A SR A anTd e

AT M &1 31ef B UF BH &1 U AfRad a8 & fwa o W 1 ifaRad g ura Bt 2 |
THR WA N 9 I 811 § {6 BH @1 U SffaRad sdbls & Saied W ol AfaRad @ &
Tedl B 1 S A I (MR) & SRIeR WA oFTd (MC) 81 dl 98 ®H &) ey Scred A el 2,
fq ST9 MC = MR 81T T %H &1 o9 AfdHa 81 |

A= AFTE, W ST

et
“‘ \MR
0 - TR X
Fare
fom @ e
* X 38T TR I AT 3R y 3T W WA I (MR) iR W\ @ (MC) gt 18 g

* AT 3 I (MR) 3R WM=a @d a6 (MC) & | el Ufaaifiar srerar (afiaR iR #
AT I ash S IR g B B |
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* HH & Agerd @ g wd Bl § fb e oM (MR), WM @R (MC) @ SRTeR @il B
e A fawg E IR Sl T & | Seared A1 OQ WR oY JAfddhad el |

* Ife Icaret AT OM Bt ® a9 AW I (FM) ST aTd (GM) @1 ot # a1fdrss 8ram 2
BH IR MAF o9 U IR & forg Sared # afg wRah B

* Iy S 1 W ON BT 8, a9 A artd (HN) S @rd (IN) & oifdre &t 21 59
Rerfd § B8 &1 ST BT B BN B B 1 (EHI)

9 UHR BH &1 Gger E fIg W 811 § 98 MC = MR 8Ia1 8, 0Q 3wres A fFuiRa Bt @ o w
™ AGHTH B B BH P Aol D g I IE Bl & b MC 9% MR g @l 19 I pre dlfey
(get ufonfar # smawaa) |

Y

dwra arE, A drTd
“’\\
S

o & e

* E fdg w® dmr o™ (MR) =1 oFd (MC) & SRR g | i@ MC = MR | Ugell 9199 ¥
I8l gf Bl ¥ g@A ¥d MC, MR a6 @1 - § @reql @Ry ff g B 21 39 a’e 0Q
IUTEH AT W BH B AFHAH ¥ 31ffd B 8 | I8 BH HT Fgo Bl ¢ |

* If B Ieared A OM fAeiRa &= & @ o 3 (MC = MC) F fag w gof 8t 2| favg
A I b M A B AHTH W ST el BR Fahdl | F g & 9@ MC > MR I @l
ENIGIRS

31 HH BT Fged OQ SR WR W BIAT § W&l i et o7 8§ |

(i) MR = MR (ii) MC 9% MR d% &I -Id & Predl 8 |
AT M W drTd fafY 9 @ ifd wRadr | iffiean orv ol ScTes WAl §1d & A1 Al
21 W & 3N SN 3N ST ANTH Iehi Bl IYANT HR W URT IHE BIAT W S B o Fhall § |

According to this method , the Firm’s Equilibrium will be in that condition when the Difference between

the Revenue and Cost will be the Most i.e. the Difference between the TR and TC Curves is Maximum
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Impertect and Monopoly Market :

In the Graph , Output Quantity is shown on x-axis and Total Revenue (TR) , Total Cost (TC) and
Quantity of Profit are shown on y-axis . Total Revenue (TR) Curve begins from Zero . If the Output
Quantity is Zero , the Total Revenue will be Zero as well . As the Output Increases , Total Revenue
Increases and the Revenue Curve Rises Up to the Right . Total Cost (TC) Curve begins from Point C
and OC is the Fixed Cost . Even if the Output is Zero , the Firm has to bear Expenditure Equal to OC .
The Difference between Total Revenue (TR) and Total Cost (TC) gives the Total Profit (TP) . The TP

Curve is derived from the Difference between TR and TC Curve .

Initially TC > TR at Output Level ‘K’ derives Total Profit (TP) Curve , which is located in Negative
Region .On Point M , when the Total Revenue (TR) is Equal to Total Cost (TC) the Firm makes Neither
Profit , Nor Loss . This Condition is called Break Even Point i.e. Zero Profit at Point ‘K’ . When the
Output is between Point K and L , the Total Revenue is More than Total Cost . In this Region , TR
Curve is above TC Curve i.e. TR > TC and Total Profit is Positive . Tangents GH and IJ are drawn to
find the Maximum Difference between TR and TC . The Distance between TR and TC Curves is the
Most at Points E and F , where these Tangents Touch Total Revenue and Total Cost Curves . The
Equilibrium Output Quantity is OQ on this Out Level . Thus the Quantity of Maximum Profit is SQ .

On Output at KQ, the Difference between TR and TC is Increasing i.e. Total Profit is made at
Increased Rates and is Maximum at Point S . Profit is also made at QL , but the Difference between
TR and TC goes on Reducing and the Profit also begins to Decline . The TP Curve begins to Slope or
Fall Down . On Point N, the Total Revenue (TR) is again Equal to Total Cost (TC) . This is called
Break Even Point where thare is No Loss or No Profit . After Output Quantity OL , if the Firm Produces
More and the Cost Increases , resulting in less Revenue i.e. TC > TR, the Firm Sustains Loss . The
Total Revenue (TR) Curve is Below the x-axis . The Profit is Negative and Denotes the Loss to the
Firm . In the Graph given , the Equilibrium of the Firm is at Output Quantity OQ as here the Difference
between Total Revenue (TR) and Total Cost (TC) is the Maximum . Profit Quantity SQ is Maximum .

OR

Resonance”’

Educating for better tomorrow  pegqnance Equventures Lid. CIN-UB0302RJ2007PLC024029 Page 23




“The Producer's Equilibrium refers to the situation in which Producer Maximizes his Profits (or
Minimizes His Loss) and the producer has no intention to make any changes in his Existing Production
or to make any changes in His Existing Expenditure on means of Production”. Profit of the Firm
Operating in Perfect Competition Market, is Maximised where the Price line (AR = MR ) intersects the
MC Curve and MC should be rising .

It is Difficult to find out the Maximum Distance between Total Revenue (TR) and Total Cost (TC) as
Actual Point is found but only after Drawing Many Tangents . It is Not Possible to find out Per Unit

Price on basis of Graph, as Price is Not shown Directly.
Perfect Competition Market :

The Marginal Revenue is the Extra Income Accrued to the Firm on Sale of Extra Unit of a Commodity .

In the same manner , Marginal Cost (MC) is the Extra Expenditure which the Firm has to make for

/ MC

[Se,

Production of an Extra Unit of a Commodity .

MR

Imperfect and Monopoly Market :

Output Quantity is shown on x-axis and Marginal Revenue (MR) and Marginal Cost (MC) are shown
on y-axis . In Imperfect Competition and Monopoly Markets, the Marginal Revenue Curve Slopes
Down while Marginal Cost Slopes Down Initially and as the Output Units Increase , the marginal Cost
(MC) too Increases . The First condition of the Firm’s Equilibrium is that Marginal Revenue (MR) be

Equal to Marginal Cost (MC) . This is shown by the Equilibrium Price .

Y

= s, e ST
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If the Output Quantity is OM , then the Marginal Revenue (FM) is more as compared to Marginal Cost
(GM) . This Increase is till Output Level OQ and EFG is the Profit Region. If the Level of Output is ON ,
the Marginal Revenue (HN) is More than Marginal Cost (IN) . In this condition , the Firm sustains Loss
(EHI) . Thus , the Firm’s Equilibrium is at Point E , where MC = MR .

Perfect Competition Market :

On Point E , Marginal Revenue (MR) is Equal to Marginal Cost (MC) i.e. MR = MC . The first
condition of the Equilibrium is Fulfilled here . The other condition of the MC Curve Intersecting MR
Curve is also Fulfilled here . If the Firm determines Output Quantity OM , the First Condition is Fulfilled
at Point F (MC = MC) . But in the absence of the Second Condition , before Point F , Marginal Cost is

Less than Marginal Revenue MC < MR and so the Firm Sustains Loss .

The Firm’s Equilibrium is at Output Level OQ , where both the Conditions are Fulfilled
(i) MC = MR and (i) MC Curve Intersects MR Curve from Below

The Marginal Revenue—Marginal Cost method is the Better Method as Maximum Profit and Output
Quantity can be found out easily . These Methods to find out the Equilibrium of a Firm can be used in

All Types of Markets .. .

Q30. W= A= & &= T A= SuEl 1 AR @ aEssd |
Explain Broadly any THREE Quantitative Methods of Credit Control .
OR
e A= & &= dF onere SRl @ R | aEsisd |
Explain Broadly any THREE Qualitative Methods of Credit Control .
[ 6 Marks ]
Ans.
| = & AEES U
S IURN ¥ U WU A f{el A B AH R Y9G Ul B | I [UF $Had A B A R AR w)
& <d 8 9 & AR B Qe W | 9 I P SpefIaRe H o1 B ARl bl HAH BT AR FqdT HH
& Ol ® 1 B d% AR @ A UG AnTd B PR wve @ fog 5 Sur @ e ® S
HAATHS AT IROTHIHS U HEl Il & |
(i) % X N ;9P R a® B O R W D= 9% 07 RS IHhi BT KU IUAL FHRaTal
21" 9% &R 98 R RN W I 9% ARS a1 & g el &1 gieeidl d-ar 8 9Rd A
I8 B MR Red 9 gR1 f5a San 81 99 <9 H 9g @ AA BH B ol © a9 el
6§ ¥ BT 981 <l B | 39b fURT W@ @1 IR & & fog d% < "er & Wl 7
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(ii) Yol IR B A = 9% gR1 WRARI Ui &1 @¥ie g 999 31 Ha1 B el ok
@ fopaTy wEl ST B | 99 srferaRen § AR @ AT HH Bl B 8, O S 9% e U
fea ufosifadi @ aiftiaes d@i @1 9991 ¥ @R @ 8| 39 [QuRd It S 9% War
afforal 1 @A gE A B A IB1 @ U Ao diei H afg @ o ¥ | s9y srefeyawen #
g BT fRAR B B |

@iy BT PIYHUE 9 NG RAdgUd 7 gRadH ;@R §Hi gR1 STl SRl w1 Uw Mf¥Ea
UM GRINT & WU H BRIY 96 b U 9] AaR B 5, 9 dene sReargu ded
g | 9fET AU & ogER B B U G FHRT B v AREd ogud oM U axd AT
THE ®Y ¥ G AR a1 B, 5 THe ST (CRR) dad 8| 94 dw1d 96 & a1 ol
fRAR ®=1 BT © A1 Sad I SIUM] Bl BH BR QAT ST § Ud $HD [AURA Sq ARG B
FEaT AT FH FIA Bl B A I AUl H afg IR & S B |

3R]
g = & e SU
S 9% R g fRE0 3 ot [Surg ff TR S § @ It sifararen & faffre a3 #

ARG P AT B BT BA1 8| A BT Y8 JAGD H SURD &F Bl IR B & ol FIATHD
g o Qfadl gRT far S g

(i) TS A A0 — =g 9% gr1 fare &3 g fatre smaegsar o ww@l & for
TIATHS ARG B 0 & SR ORI ST B, S 39 UPR §

» o B ARl # uRadd &R |

y  fafra fal & &9 &Ri/®ei &= H fear @

» faRre &= & =0 @ = g

»  faenfaar gui aeqeii & o & e A foed MegiRor =1 |

(ii) TG B AT — D JId d<T §6 & gRI A== &= & fouv 9@ & =T
(@Tfrmam ¥ fAeiRen) wR @ TR B T A IF S STAR Ter—arer FuiRa @ o e
SE
y 5N 9@ @ fon Rl &1 g gAm @& gl o1 A R <)

y fl Joi & forg Rat &1 g A &) gfaen &1 A a3
» Il gR1 AT ST sferar Sgawardl B AU S aTel FOT @l W srerar
Hiel fAfRed wv <7
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(i)

(iii)

(i) AP TET - D =T DT 6 ARG B B HA® 9 AN GH TS BT B AR
DI b YU FHRY ARG b1 Pl AW T A A7 F W o0l Arg i & &

1T T9mg 9911 Apar B

THREE Quantitative Methods of Credit Control are :

Open Market Operations :

Open Market Operations refer to the Sale and Purchase of Government Securities in the Open Market
by the Central bank . If Central Bank Sales the Securities of Government then the deposits of
commercial bank decreases and due to that the credit creation ability of the commercial banks will also
decreases. Thus, the credit creation by the commercial banks will also decreases. If central bank
purchases the securities of government from the open market then the deposits of commercial bank
increases and due to that the credit creation ability of the commercial banks will also increases. Thus,
the credit creation by the commercial banks will also increases.

In the condition of inflation in the economy central bank sales the Government securities and in the
condition of deflation in the economy central bank purchases the Government securities to control the

problems.

Statutory Liquidity Ratio :

Statutory Liquidity Ratio refers to the minimum percentage of a bank deposits which is required to kept
with themselves in cash. This ratio is determined by the central bank.

If central bank increases the SLR then commercial banks has to keep more percentage of their
deposits with themselves, which means their credit creation ability will decreases. Thus the credit
creation by the commercial banks will also decreases.

If central bank decreases the SLR then commercial banks has to keep less percentage of their
deposits with themselves, which means their credit creation ability will increases. Thus the credit
creation by the commercial banks will also increases.

In the condition of inflation in the economy central bank increases the SLR and in the condition of

deflation in the economy central bank decreases the SLR to control the problems.

Cash Reserve Ratio :

Cash Reserve Ratio refers to the minimum percentage of a bank deposits which is required to kept
with the central bank . All the commercial banks have to keep with the central bank a certain
percentage of their deposits in the form of minimum cash reserve ratio. This ratio is determined by the
central bank .

If central bank increases the CRR then commercial banks has to keep more percentage of their
deposits with central bank, which means that their credit creation ability will decreases. Thus the credit
creation by the commercial banks will also decreases.

If central bank decreases the CRR then commercial banks has to keep less percentage of their
deposits with central bank, which means that their credit creation ability will increases. Thus the credit

creation by the commercial banks will also increases.

Resonance”’
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In the condition of inflation in the economy central bank increases the CRR and in the condition of

deflation in the economy central bank decreases the CRR to control the problems.

OR

Qualitative measures includes those measures of central bank which controls the direction of credit

creation in economy. They are also termed as selective measures. It includes :

(i)

(i)

(iii)

Margin Requirement : The difference between the value of security and the amount of loan
sanctioned is known as margin requirement. By changing the margin requirement Central
bank can increase or decrease the credit creation in desired directions. If Central bank wants
to increase the credit in a particular use then it will decrease the margin requirement for that

use.

Consumer Credit : Loans given by commercial banks to the consumers to purchase the
durable consumer goods, are known-as consumer’s credit. Central bank can make the loans
attractive or unattractive by following way :- (a) By changing the minimum down payments, (b)

By changing the maximum period of repayment. (installment)

Differentiated Rate of Interest : Central bank can decide different interst rates for different
uses to affect the direction of credit. Central bank will increase the rate of interst for those uses
where it wants to discourage the credit and will decrease the rate of interst for those uses

where it wants to encourage the credit.

Disclaimer Clause :

These Solutions are prepared by the Expert Faculty Team of RESONANCE .

Views and Answers provided may differ from RBSE BOARD due to difference in assumptions taken in support of the answers .

In such case answers as provided by “RBSE BOARD” will be deemed as final .
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